Name: Primary 5-a-day Bronze Name: Primary 5-a-day Bronze

18th September 18th September

20 x 20 62 + 29 20 x 20 62 + 29

Jonathan has £3 Jonathan has £3

e e 62
He buys 3 packets of crisps costing 70p \l\ \l\ \l\ He buys 3 packets of crisps costing 70p

each il N each

e
e
e

How much money does he have left? How much money does he have left?

What number is the arrow pointing to? What number is the arrow pointing to?

Write the missing numbers to make this
multiplication grid correct

Write the missing numbers to make this
X multiplication grid correct

50 50

6 |30 |42 6 |30 |42
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